UNDERSTANDING THE CONCEPTS OF PERIMETER, AREA AND VOLU ME

Perimeter

The distance around a two-dimensional shape.
Example: the perimeter of this rectangle is 3+7+3+7 =20
The perimeter of a circle is called the circumference.

Perimeter is measured in linear anits such as mm, em, m, km.

Area

The “size” or “amount of space” inside the boundary of a two-dimensional
surface, including curved surfaces. In the case of a curved surface, the area is

usually called surface area.

Example: If each small square at the left has an area of 1 cm’, the larger shapes

all have an area of 9 cm”.
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Area is measured in square units such as mm’, cm’, m’, km®.

Velume

The “amount of space™ contained within the interior of a three-dimensional object.

(The capacity of a three-dimensional object.)

Example: The volume of the “box™ at the right is 4x5x10 =200 m". This means,

for instance, that 200 m” of water could be poured into the box.
Volume is measured in cubic anits such as mm’, em’, m", km®, mL, L.

Note: | mL=1cm’
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You have been hired to renovate an old house. For each of the following jobs, state whether you would measure
perimeter, area or volume and explain why.

Job

Perimeter, Area or Volume?

Wihy?

Replace the baseboards in a room.
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Paint the walls.
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Pour a concrete foundation.
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2. Convert 200 m’ to litres. (Hint: Draw a picture of | m’.)
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Cardboard Box Space Diagonal Solution
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Spider and the Fly Solution
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13. Math Contest
a) The set of whole numbers (5, 12, 13) is called a
Pythagorean triple. Explain why this name is appropriate.
b) The smallest Pythagorean triple is (3, 4, 5). Investigate whether
multiples of a Pythagorean triple make Pythagorean triples.
€) Substitute values for m and n to investigate whether triples of
the form (m? — n?, 2mn, m? + n?) are Pythagorean triples.
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